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Course: Math 9

Week 1 Quiz

Question 1. What does a rational exponent represent?
a. A fraction

b. A square root

c. A cube root

d. All of the above

Question 2. What is the square root of a number?

a. A number which when multiplied by itself gives the original number

b. A number which when added to itself gives the original number

c. A number which when subtracted from itself gives the original number
d. A number which when divided by itself gives the original number

Question 3. What is the square root of a perfect square always?
a. An integer

b. A fraction

c. A decimal

d. A negative number

Question 4. What does the exponent of 1/2 represent?
a. Square root

b. Cube root

c. Fourth root

d. Fifth root

Question 5. Can a negative number have a square root?
a. Yes

b. No

c. Only if the number is a perfect square

d. Only if the number is not a perfect square

Question 6. What is the square root of 1?
a.o

b.1

c.-1

d. Bothband c

u

D

stion 7. What is the value of any number raised to the power of 0?

4~ 0O

he number itself

Q
a.
b.
c.
d. Undefined

c
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Question 8. What does a negative exponent indicate?
a. The base is negative

b. The result is negative

c. The base is in the denominator

d. The result is in the denominator

Question 9. What does the exponent of 1/3 represent?
a. Square root

b. Cube root

c. Fourth root

d. Fifth root

Question 10. What is the square root of 0?
a.o

b.1

c. Undefined

d. Infinity

Answer Key

d. All of the above
a. A number which when multiplied by itself gives the original number
a. An integer
a. Square root
b. No

d. Bothbandc
b.1

c. The base is in the denominator
b. Cube root

0.a.0
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Week 2 Quiz

Question 1. What does it mean to simplify a radical expression?
a. To make it more complex

b. To make it easier to understand

c. To make it longer

d. To make it shorter

Question 2. What is the first step in simplifying a radical expression?
a. Find the square root

b. Find the cube root

c. Factor the number under the radical

d. Divide the number under the radical

Question 3. What is the purpose of simplifying a radical expression?
a. To make it easier to work with
b. To make it harder to work with



c. To make it look nicer
d. To make it look more complicated

Question 4. What is a perfect square?

a. A number that can be written as the square of another number

b. A number that can be written as the cube of another number

c. A number that can be written as the product of two different numbers
d. A number that can be written as the sum of two different numbers

Question 5. What is the square root of a perfect square?
a. A perfect square

b. A perfect cube

c. An integer

d. A fraction

Question 6. What is the square root of a product of two numbers?
a. The product of the square roots of the two numbers

b. The sum of the square roots of the two numbers

c. The difference of the square roots of the two numbers

d. The quotient of the square roots of the two numbers

Question 7. What is the square root of a quotient of two numbers?
a. The product of the square roots of the two numbers

b. The sum of the square roots of the two numbers

c. The difference of the square roots of the two numbers

d. The quotient of the square roots of the two numbers

Question 8. Can a radical expression be simplified if the number under the radical is
prime?

a. Yes

b. No

c. Only if the number is a perfect square

d. Only if the number is a perfect cube

Question 9. What is the square root of 1?
a.o

b.1

c.-1

d. Bothband c

u

D

stion 10. What is the square root of 0?

CcCr O

ndefined

Q
a.
b.
C.
d. Infinity

Answer Key

1. b. To make it easier to understand



2. c. Factor the number under the radical
3. a. To make it easier to work with
4. a. A number that can be written as the square of another number
5. c. An integer
6. a. The product of the square roots of the two numbers
7. d. The quotient of the square roots of the two numbers
8. b.No
9. d.Bothbandc
10.a.0
Week 3 Quiz

Question 1. What is an exponent?

a. A number that tells us how many times to add a number to itself

b. A number that tells us how many times to multiply a number by itself

c. A number that tells us how many times to subtract a number from itself
d. A number that tells us how many times to divide a number by itself

Question 2. What does it mean when an exponent is 0?
a. The numberis 0

b. The numberis 1

c. The number is undefined

d. The number is infinity

Question 3. What does it mean when an exponent is 1?
a. The number is 0

b. The numberis 1

c. The number is undefined

d. The number is the same as the base

Question 4. What happens when you multiply two numbers with the same base and
different exponents?

a. You add the exponents

b. You subtract the exponents

c. You multiply the exponents

d. You divide the exponents

Question 5. What happens when you divide two numbers with the same base and different
exponents?

a. You add the exponents

b. You subtract the exponents

c. You multiply the exponents

d. You divide the exponents

Question 6. What happens when you raise a power to a power?
a. You add the exponents

b. You subtract the exponents

c. You multiply the exponents

d. You divide the exponents



Question 7. What happens when you raise a product to a power?
a. You add the exponents

b. You subtract the exponents

c. You multiply the exponents

d. You raise each factor to the power

Question 8. What happens when you raise a quotient to a power?
a. You add the exponents

b. You subtract the exponents

c. You multiply the exponents

d. You raise the numerator and the denominator to the power

Question 9. What is a negative exponent?
a. It makes the number negative

b. It makes the number positive

c. It makes the number a reciprocal

d. It makes the number undefined

Question 10. What is the base in an exponential expression?
a. The number being raised to a power

b. The number that is the power

c. The number that is the result

d. The number that is the reciprocal

Answer Key

. A number that tells us how many times to multiply a number by itself
. The numberis 1

. The number is the same as the base

. You add the exponents

. You subtract the exponents

. You multiply the exponents

. You raise each factor to the power

. You raise the numerator and the denominator to the power

. It makes the number a reciprocal

. The number being raised to a power

BOo~NoOR~LONE
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Week 4

Question 1. What is a real number?

a. A number that can be written as a fraction

b. A number that can be written as a decimal

c. A number that can be written as a square root
d. All of the above

Question 2. What is an imaginary number?
a. A number that can be written as a fraction
b. A number that can be written as a decimal



c. A number that can be written as the square root of a negative number
d. All of the above

Question 3. What is the imaginary unit?
a. The square root of -1
b. The square root of 1
c. The square root of 0
d. The square root of 2

Question 4. What is the square of the imaginary unit (i"2)?
a.-1

b.1
c.0
d.2

Question 5. What is a complex number?

a. A number that has both a real part and an imaginary part
b. A number that has only a real part

c. A number that has only an imaginary part

d. A number that has neither a real part nor an imaginary part

Question 6. What is the real part of a complex number?

a. The part that can be written as a fraction

b. The part that can be written as a decimal

c. The part that can be written as the square root of a negative number
d. The part that is not multiplied by the imaginary unit

Question 7. What is the imaginary part of a complex number?
a. The part that can be written as a fraction

b. The part that can be written as a decimal

c. The part that is multiplied by the imaginary unit

d. The part that is not multiplied by the imaginary unit

Question 8. Can a real number be considered a complex number?
a. Yes, if its imaginary part is O

b. No, real numbers and complex numbers are completely different
c. Yes, if its real part is O

d. No, real numbers can never be complex numbers

Question 9. Can an imaginary number be considered a complex number?
a. Yes, ifits real partis O

b. No, imaginary numbers and complex numbers are completely different
c. Yes, if its imaginary part is O

d. No, imaginary numbers can never be complex numbers

Question 10. What is the conjugate of a complex number?
a. A complex number with the same real part and opposite imaginary part
b. A complex number with the same imaginary part and opposite real part



c. A complex number with the same real part and imaginary part
d. A complex number with the opposite real part and imaginary part

Answer Key

1. d. All of the above

2. c. A number that can be written as the square root of a negative number

3. a. The square root of -1

4. a.-1

5. a. A number that has both a real part and an imaginary part

6. d. The part that is not multiplied by the imaginary unit

7. c. The part that is multiplied by the imaginary unit

8. a. Yes, ifits imaginary part is O

9. a. Yes,ifitsreal partis O

10.a. A complex number with the same real part and opposite imaginary part
Week 5 Quiz

Question 1. What is a conjugate in mathematics?

a. A number that is the opposite of another number

b. A number that is the square root of another number

c. A number that is the reciprocal of another number

d. A number that changes the sign of the imaginary part of a complex number

Question 2. What is the conjugate of a real number?
a. The same real number

b. The opposite of the real number

c. The reciprocal of the real number

d. The square root of the real number

Question 3. What is the conjugate of an imaginary number?
a. The same imaginary number

b. The opposite of the imaginary number

c. The reciprocal of the imaginary number

d. The square root of the imaginary number

Question 4. What is the purpose of using conjugates in mathematics?
a. To simplify expressions

b. To solve equations

c. To graph functions

d. All of the above

Question 5. What happens when you multiply a complex nhumber by its conjugate?
a. You get a real number

b. You get an imaginary number

c. You get a complex number

d. You get a rational number

Question 6. What is the conjugate of the complex number a + bi?



.a-bi
.a+bi
-a - bi
.-a + bi

cooTow

Question 7. What is the conjugate of the complex number a - bi?
a.a+ bi

b.a-bi

c.-a-bi

d. -a + bi

Question 8. What is the conjugate of the binomial x + y?
a.x-y

b.x+y

C.-X-Y

d.-x+y

Question 9. What is the conjugate of the binomial x - y?
a.x+y

b.x-y
C.-X-Yy

d. -x+y

Question 10. What happens when you multiply a binomial by its conjugate?
a. You get a difference of squares

b. You get a sum of squares

c. You get a perfect square trinomial
d. You get a cubic polynomial

Answer Key

1. d. A number that changes the sign of the imaginary part of a complex number
2. a. The same real number
3. b. The opposite of the imaginary number
4. a. To simplify expressions
5. a. You get a real number
6. a.a-bi
7. a.a+bi
8. a.x-y
9. a.x+y
10.a. You get a difference of squares
Week 6 Quiz

Question 1. What are the two components of a complex number in rectangular form?
a. Length and Width

b. Real and Imaginary

c. Positive and Negative

d. Integer and Fraction



Question 2. What is the horizontal axis called in the complex plane?
a. Imaginary axis

b. Real axis

c. Complex axis

d. Polar axis

Question 3. What is the vertical axis called in the complex plane?
a. Imaginary axis

b. Real axis

c. Complex axis

d. Polar axis

Question 4. What is the polar form of a complex number?
a. A combination of magnitude and direction

b. A combination of real and imaginary parts

c. A combination of positive and negative parts

d. A combination of integer and fraction parts

Question 5. What does the magnitude of a complex number represent in its polar form?
a. The real part

b. The imaginary part

c. The distance from the origin

d. The angle with the positive real axis

Question 6. What does the argument of a complex number represent in its polar form?
a. The real part

b. The imaginary part

c. The distance from the origin

d. The angle with the positive real axis

Question 7. When multiplying complex numbers in polar form, what do we do with the
magnitudes and arguments?

a. Add the magnitudes and multiply the arguments

b. Multiply the magnitudes and add the arguments

c. Subtract the magnitudes and divide the arguments

d. Divide the magnitudes and subtract the arguments

Question 8. When dividing complex numbers in polar form, what do we do with the
magnitudes and arguments?

a. Add the magnitudes and multiply the arguments

b. Multiply the magnitudes and add the arguments

c. Divide the magnitudes and subtract the arguments

d. Subtract the magnitudes and divide the arguments

Question 9. What is the rectangular form of a complex number?
a. A combination of magnitude and direction

b. A combination of real and imaginary parts

c. A combination of positive and negative parts



d. A combination of integer and fraction parts

Question 10. How can we convert a complex number from rectangular form to polar form?
a. By finding the magnitude and argument

b. By adding the real and imaginary parts

c. By subtracting the real part from the imaginary part

d. By multiplying the real part by the imaginary part

Answer Key:

. Real and Imaginary

. Real axis

. Imaginary axis

. A combination of magnitude and direction

. The distance from the origin

. The angle with the positive real axis

. Multiply the magnitudes and add the arguments

. Divide the magnitudes and subtract the arguments
. A combination of real and imaginary parts

. By finding the magnitude and argument
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Week 7 Quiz

Question 1. What is a quadratic equation?
a. An equation of degree 1
b. An equation of degree 2
c. An equation of degree 3
d. An equation of degree 4

Question 2. What is a root of a quadratic equation?
a. The highest power in the equation

b. The coefficient of the equation

c. A solution of the equation

d. The constant term in the equation

Question 3. When does a quadratic equation have complex roots?
a. When the discriminant is positive

b. When the discriminant is zero

c. When the discriminant is negative

d. When the discriminant is a fraction

Question 4. What is the discriminant of a quadratic equation?
a. The square root of the equation

b. The coefficient of the equation

c. The constant term in the equation

d. The part of the quadratic formula under the square root

Question 5. What is the quadratic formula used for?
a. To find the roots of a quadratic equation



b. To find the degree of a quadratic equation
c. To find the discriminant of a quadratic equation
d. To find the coefficient of a quadratic equation

Question 6. What is the form of a complex root?
a. A real number

b. An imaginary number

c. A fraction

d. A combination of real and imaginary parts

Question 7. What is the imaginary unit 'i'?
a. The square root of -1
b. The square root of 1
c. The square root of 0
d. The square root of 2

Question 8. How many roots does a quadratic equation have?
a. One

b. Two

c. Three

d. Four

Question 9. What is the relationship between the roots of a quadratic equation with complex
roots?

a. They are equal

b. They are unequal

c. They are conjugates

d. They are opposites

Question 10. What is the sum of the roots of a quadratic equation ax"2 + bx + ¢ = 0?
a. a/lb
b. -b/a
c.cla
d. -c/a

Answer Key:

1. b. An equation of degree 2

2. c. A solution of the equation

3. c¢. When the discriminant is negative

4. d. The part of the quadratic formula under the square root
5. a. To find the roots of a quadratic equation

6. d. A combination of real and imaginary parts

7. a. The square root of -1

8. b. Two

9. c. They are conjugates

10.b. -b/a



Week 8 Quiz

Question 1. What is a complex root of a polynomial?
a. A root that is a real number

b. A root that is an imaginary number

c. A root that is a complex number

d. A root that is a rational number

Question 2. What is the conjugate of a complex number?

a. The number with the sign of the imaginary part changed

b. The number with the sign of the real part changed

c. The number with both the real and imaginary parts changed

d. The number with neither the real nor the imaginary part changed

Question 3. If a polynomial has a complex root, what else must it have?
a. Another complex root

b. A real root

c. The conjugate of the complex root

d. No other roots

Question 4. What is the fundamental theorem of algebra?
a. Every polynomial equation of degree n has n roots

b. Every polynomial equation of degree n has n+1 roots
c. Every polynomial equation of degree n has n-1 roots
d. Every polynomial equation of degree n has 2n roots

Question 5. Can a polynomial have complex coefficients?
a. Yes

b. No

c. Only if the degree is even

d. Only if the degree is odd

Question 6. What is the result of multiplying a complex number by its conjugate?
a. A real number

b. An imaginary number

c. A complex number

d. Zero

Question 7. What is the degree of a polynomial?

a. The highest power of the variable in the polynomial
b. The lowest power of the variable in the polynomial
c. The number of terms in the polynomial

d. The sum of the coefficients of the polynomial

Question 8. Can the roots of a polynomial be complex numbers?
a. Yes

b. No

c. Only if the degree is even

d. Only if the degree is odd



Question 9. What is a real polynomial?

a. An equation with one variable

b. An equation with two variables

c. An equation with coefficients that are complex numbers
d. An equation with coefficients that are real numbers

Question 10. What is the identity for the difference of squares?
a. a"2 - b"2 = (a+b)(a-b)

b. an2 - b"2 = (a+b)"2

c. a2 - b"2 = (a-b)"2

d. a"2 - b2 = an2 + b2

Answer Key:

1. c. Aroot that is a complex number
2. a. The number with the sign of the imaginary part changed
3. c. The conjugate of the complex root
4. a. Every polynomial equation of degree n has n roots
5. a.Yes
6. a. Areal number
7. a. The highest power of the variable in the polynomial
8. a.Yes
9. d. An equation with coefficients that are real numbers
10.a. a2 - b"2 = (a+b)(a-b)

Week 9 Quiz

Question 1. What is a polynomial identity?

a. An equation that is always true for any value of the variable
b. An equation that is never true

c. An equation that is sometimes true

d. An equation that is true only for specific values of the variable

Question 2. What is the identity for the difference of squares?
a. a"2 - b"2 = (a-b)*2

b. an2 - b"2 = (a+b)"2

c. a2 - b"2 = (atb)(a-b)

d. a"2 - b"2 = a"2 + b2

Question 3. What is the identity for the square of a binomial?
a.

b. (atb)"2 = a"2 - 2ab + b"2(a+b)"2 = a2 + 2ab + b"2

c. (ath)"2 = a2 + b2

d. (a+b)"2 = a2 - b"2

Question 4. What is the identity for the cube of a binomial?
a. (a+b)"3 = a"3 + 3a”"2b + 3ab”2 + b"3
b. (a+b)"3 = a3 - 3a”2b + 3ab”2 - b"3



c. (a+b)*3 =a"3 + b"3
d. (a+b)*3 = a"3 - b3

Question 5. What is the identity for the sum of cubes?
a. a"3 + b"3 = (atb)(@"2 + ab + b"2)

b. a3 + b"3 = (a+b)"3

c. a"3 + b"3 = (a+b)(a”2 - ab + b"2)

d.a"3 + b3 =a"3 - b"3

Question 6. What is the identity for the difference of cubes?
a. a"3 - b"3 = (a-b)(a"2 + ab + b"2)

b. a3 - b"3 = (a-b)"3

c. a3 -b"3 = (a-b)(@"2 - ab + b"2)

d. a"3 - b"3 =a"3 + b"3

Question 7. What is the identity for the square of a difference?
a. (a-b)"2 = a2 - 2ab + b2

b. (a-b)"2 =a"2 + 2ab + b"2

c. (a-b)*2 =an2 + b2

d. (a-b)*2 = a"2 - b"2

Question 8. What is the identity for the cube of a difference?
a. (a-b)*3 =a"3 + b"3

b. (a-b)"3 = a"3 + 3a”2b - 3ab”"2 + b"3

c. (a-b)"3 = an3 - b"3

d. (a-b)"3 = a3 - 3a”"2b + 3ab”2 - b"3

Question 9. What is the identity for the product of a sum and a difference?
a. (atb)(a-b) = an2 - b"2

b. (atb)(a-b) = an2 + b"2

c. (at+b)(a-b) = a"2 - 2ab + b"2

d. (atb)(a-b) = a2 + 2ab + b2

Question 10. What is the identity for the square of a sum?
a. (a+b)"2 = a"2 + 2ab + b"2

b. (atbh)*2 = an2 - 2ab + b"2

c. (a+b)*2 = a2 + b"2

d. (a+b)"2 = a2 - b"2

Answer Key:

1. a. An equation that is always true for any value of the variable
2. c.a’"2-Db"2 = (atb)(a-b)

3. a. (atbh)*2 =a"2 + 2ab + b"2

4. a.(at+b)"3 =a"3 + 3a"2b + 3ab”"2 + b"3

5. c.a"3 +b"3 = (a+b)(a”2 - ab + b"2)

6. a.a”"3-b"3 =(a-b)(a”2 + ab + b"2)

7. a.(a-b)*2 =a"2 - 2ab + b"2

8. d. (a-b)*3 = a"3 - 3a"2b + 3ab”"2 - b"3



9. a. (atb)(a-b) = a2 - b2
10.a. (atbh)*2 = a"2 + 2ab + b2

Week 10 Quiz

Question 1. What is a vector?

a. A quantity that has magnitude only

b. A quantity that has direction only

c. A quantity that has both magnitude and direction
d. A quantity that has neither magnitude nor direction

Question 2. What is the result of adding two vectors together?
a. A scalar
b. A vector
c. A matrix
d. A tensor

Question 3. What is the term for the length of a vector?
a. Direction

b. Magnitude

c. Scalar

d. Vector

Question 4. What is the term for the angle a vector makes with the positive x-axis?
a. Magnitude

b. Direction

c. Scalar

d. Vector

Question 5. What is a unit vector?
a. A vector with a magnitude of O
b. A vector with a magnitude of 1
c. A vector with a magnitude of -1
d. A vector with a magnitude of 2

Question 6. What is the result of multiplying a vector by a scalar?
a. A scalar
b. A vector
c. A matrix
d. A tensor

Question 7. What is the dot product of two perpendicular vectors?
a.o

coo
N L P

Question 8. What is the cross product of two parallel vectors?
a.o



.1
-1
.2

o 0O T

Question 9. What is the term for a vector that points in the opposite direction?
a. Negative vector

b. Inverse vector

c. Reverse vector

d. Opposite vector

Question 10. What is the term for a vector that points in the same direction but has a
magnitude of 1?

a. Unit vector

b. Scalar vector

c. Normal vector

d. Direction vector

Answer Key

1. c. A quantity that has both magnitude and direction
2. b. Avector

3. b. Magnitude

4. b. Direction

5. b. A vector with a magnitude of 1

6. b. A vector

7. a.0

8. a.0

9. a. Negative vector

10. a. Unit vector

Week 11 Quiz

Question 1. When two vectors are added together and result in a zero vector, they are:
a) Opposite.

b) Complementary.

c) Supplementary.

d) Parallel.

Question 2. Which of the following is NOT a vector?
a) Speed.

b) Velocity.

c) Force.

d) Displacement.

Question 3. What is the starting point of a vector called?
a) Endpoint.

b) Origin.

c) Initial point.

d) Terminal.



Question 4. If two vectors have the same magnitude and direction, they are:
a) Opposite.

b) Perpendicular.

c) Equal.

d) Scalar.

Question 5. What is the result of adding two or more vectors together?
a) Scalar sum.

b) Vector product.

¢) Resultant vector.

d) Magnitude.

Question 6. When vectors are represented with arrows, what does the length of the arrow
indicate?

a) Direction of the vector.

b) Origin of the vector.

¢) Magnitude of the vector.

d) Type of the vector.

Question 7. What is a vector that has a magnitude of 1 called?
a) Zero vector.

b) Scalar vector.

c¢) Unit vector.

d) Directional vector.

Question 8. Which of the following operations can be performed on vectors?
a) Addition.

b) Subtraction.

¢) Multiplication.

d) All of the above.

Question 9. If a vector points straight up, it is often referred to as:
a) Horizontal vector.

b) Vertical vector.

c) Diagonal vector.

d) Zero vector.

Question 10. What is the vector that has a magnitude of zero called?
a) Unit vector.

b) Null vector.

c) Directional vector.

d) Magnitude vector.

Answer Key:
1. a) Opposite

2. a) Speed.
3. ¢) Initial point.



4. c) Equal.

5. c¢) Resultant vector.

6. c) Magnitude of the vector.
7. ¢) Unit vector.

8. d) All of the above.

9. b) Vertical vector.

10. b) Null vector.

Week 12 Quiz

Question 1. Which of the following best describes a vector?
a) A gquantity with only magnitude.

b) A quantity with only direction.

c) A quantity with both magnitude and direction.

d) A point in space.

Question 2. Which of the following best describes a scalar?
a) A quantity with only direction.

b) A quantity with both magnitude and direction.

c) A quantity with only magnitude.

d) A line in space.

Question 3. Which of the following is a scalar quantity?
a) Force.

b) Displacement.

c) Speed.

d) Velocity.

Question 4. Which of the following is a vector quantity?
a) Distance.

b) Time.

c) Mass.

d) Acceleration.

Question 5. What does the direction of a vector arrow represent?
a) Magnitude.

b) The type of vector.

c) The direction of the quantity.

d) The origin of the vector.

Question 6. If two vectors are equal, they have the same:
a) Magnitude only.

b) Direction only.

c) Both magnitude and direction.

d) Neither magnitude nor direction.

Question 7. What is the result of multiplying a vector by a scalar?
a) A scalar.
b) A vector with changed magnitude.



c) A vector with changed direction.
d) A zero vector.

Question 8. Temperature is an example of:
a) Vector.

b) Scalar.

c) Neither vector nor scalar.

d) Both vector and scalar.

Question 9. The weight of an object is an example of:
a) Scalar.

b) Vector.

c) Neither vector nor scalar.

d) Both vector and scalar.

Question 10. Which of the following cannot be negative?
a) Vector.

b) Scalar.

¢) Magnitude of a vector.

d) Direction of a vector.

Answer Key:

1. c¢) A quantity with both magnitude and direction.
2. ¢) A quantity with only magnitude.

3. ¢) Speed.

4. d) Acceleration.

5. c¢) The direction of the quantity.

6. c) Both magnitude and direction.

7. b) A vector with changed magnitude.

8. Db) Scalar.

9. b) Vector.

10. ¢) Magnitude of a vector.

Week 13 Quiz

Question 1. Which of the following describes a matrix?

a) A collection of numbers arranged in rows and columns.
b) A type of vector.

c) A single row of numbers.

d) A single column of numbers.

Question 2. If a matrix has 3 rows and 4 columns, how is it described?
a) 3x3 matrix
b) 4x3 matrix
c) 3x4 matrix
d) 4x4 matrix

Question 3. What is the main diagonal in a square matrix?



a) The diagonal from the top left to the bottom right.
b) The diagonal from the top right to the bottom left.
c) The top row of the matrix.

d) The leftmost column of the matrix.

Question 4. Which of the following matrices is known as the identity matrix?
a) A matrix filled with zeros.

b) A matrix where all elements are the same.

c) A square matrix with ones on the main diagonal and zeros elsewhere.

d) A matrix with alternating ones and zeros.

Question 5. What is the determinant of the identity matrix of any size?
a0

b) 1

c)-1

d) It varies depending on the size.

Question 6. Which operation on matrices requires the number of columns in the first matrix
to equal the number of rows in the second matrix?

a) Addition

b) Subtraction

¢) Multiplication

d) Transposition

Question 7. What is the result when a matrix is multiplied by its inverse?
a) A zero matrix

b) The same matrix

c) An identity matrix

d) A matrix with all elements doubled

Question 8. What is the transpose of a matrix?
a) A matrix with rows and columns interchanged.
b) A matrix with all elements squared.

c) The inverse of the matrix.

d) A matrix with all elements halved.

Question 9. If two matrices are added together, they must have:
a) The same number of rows and the same number of columns.
b) A different number of rows but the same number of columns.
¢) The same number of rows but a different number of columns.
d) Any size, as matrices of all sizes can be added together.

Question 10. What is the main use of matrices in real-world applications?
a) Only for mathematical puzzles.

b) Representing and solving systems of linear equations.

c¢) Calculating areas of shapes.

d) Predicting the weather.

Answer Key:



1. a) A collection of numbers arranged in rows and columns.

2. ) 3x4 matrix

3. a) The diagonal from the top left to the bottom right.

4. c) A square matrix with ones on the main diagonal and zeros elsewhere.
5. b)1

6. c) Multiplication

7. ¢) An identity matrix

8. a) A matrix with rows and columns interchanged.

9. a) The same number of rows and the same number of columns.

10. b) Representing and solving systems of linear equations.

Week 14 Quiz

Question 1. For two matrices to be multiplied, the number of columns in the first matrix must
be:

a) Less than the number of rows in the second matrix.

b) Greater than the number of rows in the second matrix.

c) Equal to the number of rows in the second matrix.

d) Not related to the number of rows in the second matrix.

Question 2. If you multiply a 3x2 matrix by a 2x3 matrix, what will be the size of the resulting
matrix?

a) 2x2

b) 3x3

C) 2x3

d) 3x2

Question 3. The element in the first row and first column of the product of two matrices is
found by:

a) Adding the products of the elements of the respective row and column.

b) Subtracting the products of the elements of the respective row and column.

¢) Adding the elements of the respective row and column.

d) Multiplying the first elements of the two matrices.

Question 4. Matrix multiplication is:
a) Commutative

b) Associative

c) Distributive

d) Reflexive

Question 5. If matrix A is of size 2x3, which size of matrix B will allow A and B to be
multiplied?

a) 2x3

b) 3x2

c) 3x3

d) 2x2

Question 6. When multiplying matrices, the number of operations required depends on:



a) The sum of the number of rows and columns of the matrices.

b) The product of the number of rows and columns of the matrices.

c) The difference between the number of rows and columns of the matrices.
d) Only the number of rows of the first matrix.

Question 7. If two matrices A and B can be multiplied to get matrix C, then:
a) A and C can always be multiplied.

b) B and C can always be multiplied.

c) A and B can be multiplied in any order to get C.

d) The order of multiplication matters for A and B.

Question 8. The identity matrix, when multiplied with any matrix A, results in:
a) A zero matrix

b) The matrix A

c) The transpose of matrix A

d) The inverse of matrix A

Question 9. If matrix A is 4x5 and matrix B is 5x3, the resulting matrix C will have how many
elements?

a) 12

b) 15

c) 20

d) 60

Question 10. The process of multiplying matrices involves:
a) Only addition.

b) Only multiplication.

c¢) Both addition and multiplication.

d) Neither addition nor multiplication.

Answer Key:

1. c¢) Equal to the number of rows in the second matrix.

2. b)3x3

3. a) Adding the products of the elements of the respective row and column.
4. b) Associative

5. b) 3x2

6. b) The product of the number of rows and columns of the matrices.

7. d) The order of multiplication matters for A and B.

8. b) The matrix A

9. d)60

10. ¢) Both addition and multiplication

Week 15 Quiz

Question 1. The inverse of a matrix is denoted by:
a) Matrix"2
b) 1/Matrix



c) Matrix"(-1)
d) Matrix/2

Question 2. Which type of matrix always has an inverse?
a) Zero matrix

b) Identity matrix

c¢) Singular matrix

d) Diagonal matrix

Question 3. If matrix A has an inverse, then A multiplied by its inverse results in:
a) Matrix A

b) Zero matrix

c) ldentity matrix

d) Singular matrix

Question 4. Not all matrices have inverses. Such matrices are called:
a) Invertible matrices

b) Non-invertible matrices

c) Diagonal matrices

d) Scalar matrices

Question 5. The inverse of the identity matrix is:
a) The zero matrix

b) The identity matrix itself

c) A singular matrix

d) A non-square matrix

Question 6. For a matrix to have an inverse, it must be:
a) A square matrix

b) A rectangular matrix

c) A diagonal matrix

d) A scalar matrix

Question 7. If the determinant of a matrix is 0, then:
a) The matrix has an inverse.

b) The matrix does not have an inverse.

¢) The matrix is an identity matrix.

d) The matrix is a zero matrix.

Question 8. The process of finding the inverse of a matrix involves:
a) Only addition.

b) Only multiplication.

c¢) Both addition and multiplication.

d) Neither addition nor multiplication.

Question 9. If matrix B is the inverse of matrix A, then:
a) A is also the inverse of B.

b) B is the transpose of A.

c) A and B are identical matrices.



d) A is the determinant of B.

Question 10. If two matrices A and B are inverses of each other, then:
a)AxB=BxA

b)A+B=B+A

C)A-B=B-A

dA/B=B/A

Answer Key:

1. c) Matrix(-1)

2. b) Identity matrix

3. ) ldentity matrix

4. b) Non-invertible matrices

5. b) The identity matrix itself

6. a) A square matrix

7. b) The matrix does not have an inverse.
8. c¢) Both addition and multiplication.

9. a) Ais also the inverse of B.

10.a) AXxB=BxA

Week 16

Question 1. When multiplying a matrix by a column vector, the number of columns in the
matrix should be:

a) Equal to the number of rows in the vector.

b) Less than the number of rows in the vector.

c) More than the number of rows in the vector.

d) Not related to the number of rows in the vector.

Question 2. The result of multiplying a matrix by a column vector is:
a) Another matrix.

b) A scalar.

c) A column vector.

d) A row vector.

Question 3. When multiplying a matrix by a column vector, each entry in the resulting vector
is:

a) The sum of the products of the matrix's rows and the vector's columns.

b) The difference between the matrix's rows and the vector's columns.

¢) The product of the matrix's rows and the vector's columns.

d) The quotient of the matrix's rows and the vector's columns.

Question 4. If a matrix has dimensions 3x2, it can be multiplied by a column vector with how
many rows?

a) 2

b) 3

c)4

d1



Question 5. The process of multiplying a matrix by a column vector is also known as:
a) Matrix addition.

b) Matrix subtraction.

c¢) Dot product.

d) Cross product.

Question 6. If a matrix has dimensions 4x3, which of the following column vectors can it be
multiplied with?
a) A 4x1 vector.
b) A 3x1 vector.
c) A 2x1 vector.
d) A 5x1 vector.

Question 7. When multiplying a matrix by a column vector, the order in which they are
multiplied:

a) Can be reversed.

b) Cannot be reversed.

c) Does not matter.

d) Depends on the dimensions of the matrix.

Question 8. If you multiply a 2x3 matrix by a 3x1 column vector, the resulting vector will
have how many rows?

a)l

b) 2

c)3

d) 4

Question 9. In matrix-vector multiplication, if an entry in the column vector is zero:
a) The corresponding result in the output vector will always be zero.

b) The entire output vector will be zero.

c) The corresponding result in the output vector may or may not be zero.

d) The matrix cannot be multiplied by the vector.

Question 10. The purpose of multiplying a matrix by a column vector is often to:
a) Find the determinant of the matrix.

b) Transform the vector in some way.

c) Find the inverse of the matrix.

d) Add the matrix and vector together.

Answer Key:

. @) Equal to the number of rows in the vector.

. €) A column vector.

. @) The sum of the products of the matrix's rows and the vector's columns.
.a)2

. ¢) Dot product.

. b) A 3x1 vector.

. b) Cannot be reversed.
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8.b)2
9. ¢) The corresponding result in the output vector may or may not be zero.
10. b) Transform the vector in some way.

Week 17

Question 1. The sentence "The sum of a number and five is twelve" can be translated as:
a)x-5=12

b)x*5=12

c)x/5=12

dx+5=12

Question 2. "Three times a number is equal to twenty-seven" translates to:
a)x/3=27

b) x + 3=27

c) 3x =27

d)x-3=27

Question 3. "Four less than a number is sixteen" can be written as:
a)x+4=16

b)x*4=16

C)x-4=16

dx/4=16

Question 4. "The product of a number and seven is forty-nine" translates to:
a)x+7=49

b)x*7 =49

C)x-7=49

d)x/7=49

Question 5. "Twice a number decreased by six is eight" can be written as:
a)2x-6=8

b)2x+6=8

c)x/2-6=8

dx-2+6=8

Question 6. "The quotient of a number and nine is three" translates to:
a)x*9=3

b)x+9=3

C)x-9=3

d)x/9=3

Question 7. "Five more than a number is seventeen" can be written as:
a)x-5=17

b) X *5 =17
C)x+5=17
d)x/5=17

Question 8. "The difference between a number and eight is twelve" translates to:



a)x*8=12
b)x+8=12
c)x-8=12
dyx/8=12

Question 9. "Half of a number is equal to ten” can be written as:
a)x*2=10
b)x+2=10
c)x-2=10
dx/2=10

Question 10. "A number increased by eleven is thirty-three" translates to:
a)x*11 =33
b) x + 11 =33
c)x-11=33
d)x/11=33

Answer Key:

1. d)x+5=12
2. ¢)3x=27

3. ¢)x-4=16
4. b)x*7=49
5. a)2x-6=8
6. d)x/9=3

7. c)x+5=17
8. ¢)x-8=12
9. d)x/2=10
10.b) x + 11 =33

Week 18

Question 1. In the expression "5x + 3", the number "5" is called the:
a) Coefficient

b) Variable

c) Constant

d) Exponent

Question 2. In the term "7y", the letter "y" represents a:
a) Coefficient

b) Variable

c) Constant

d) Exponent

Question 3. The number that stands alone in an expression, like the "4" in "2x + 4", is
known as a:

a) Coefficient

b) Variable

c) Constant



d) Exponent

Question 4. In the expression "3x"2", the number "2" is the:
a) Coefficient

b) Variable

c) Constant

d) Exponent

Question 5. The expression "4x + 5y - 7" is an example of a:
a) Monomial

b) Binomial

c¢) Trinomial

d) Polynomial

Question 6. The expression "5x" is an example of a:
a) Monomial

b) Binomial

¢) Trinomial

d) Polynomial

Question 7. The expression "x"2 + 3x" is an example of a:
a) Monomial

b) Binomial

c¢) Trinomial

d) Polynomial

Question 8. In the term "4x"3", the number "4" is the:
a) Coefficient

b) Variable

c) Constant

d) Exponent

Question 9. The expression "2x"2 + 5x + 3" is an example of a:
a) Monomial

b) Binomial

¢) Trinomial

d) Polynomial

Question 10. The parts of an expression that are added or subtracted, like "2x" and "5" in
"2x + 5", are called:

a) Coefficients

b) Variables

c) Terms

d) Exponents

Answer Key:

1. a) Coefficient
2. b) Variable



3. c¢) Constant

4. d) Exponent
5. ¢) Trinomial

6. a) Monomial
7. b) Binomial

8. a) Coefficient
9. c¢) Trinomial

10.c) Terms

Week 19

Question 1. Two expressions that have the same value for all values of their variables are
called:

a) Like terms

b) Equivalent expressions

c¢) Binomials

d) Inequalities

Question 2. If two expressions are equivalent, then they:
a) Look exactly the same.

b) Have the same variables.

c) Have the same value when evaluated.

d) Are both polynomials.

Question 3. Combining "3x" and "5x" results in:
a)8

b) 8x

c) 15x/2

d) 2x

Question 4. The distributive property states that:
a)a(b +c)=ab +ac

b)atb=b+a
c)a(b+c)=ab-ac
da+b=a-b

Question 5. Which property states that the order in which you add or multiply numbers does
not change their sum or product?

a) Distributive Property

b) Associative Property

c) Commutative Property

d) Identity Property

Question 6. If you factor out the greatest common factor from an expression, the resulting
expressions are:

a) Not equivalent.

b) Equivalent.

c) Like terms.

d) Inequalities.



Question 7. The expression "4x + 2" can be factored as:
a) 2(2x + 1)

b) 2(2x - 1)

c)4(x +2)

d) 4(x - 2)

Question 8. Which of the following is an equivalent expression to "3(x + 5)"?
a)3x+5

b) 3x + 15

c)x+15

d) 3x-15

Question 9. The expression "2x + 6y" is equivalent to:
a) 2(x + 3y)

b) 2(x - 3y)

C) X + 3y

d) x - 3y

Question 10. Which property states that the way numbers are grouped in an addition or
multiplication does not change their sum or product?

a) Distributive Property

b) Associative Property

c) Commutative Property

d) Identity Property

Answer Key:

1. b) Equivalent expressions

2. ¢) Have the same value when evaluated.
3. b) 8x

4.a)a(b+c)=ab+ac

5. ¢) Commutative Property

6. b) Equivalent.

7.a)2(2x +1)

8.b)3x + 15

9.a)2(x + 3y)

10. b) Associative Property

Week 20

Question 1. The vertex of a quadratic function is:
a) Where the function crosses the x-axis.

b) The highest or lowest point of the function.

¢) Where the function crosses the y-axis.

d) The point where the function is undefined.

Question 2. If the coefficient "a" in a quadratic function is positive, the parabola:
a) Opens downwards.



b) Opens upwards.
c) Is a straight line.
d) Does not have a vertex.

Question 3. The x-coordinate of the vertex of a quadratic function can be found using:
a) -a/(2b)

b) b/(2a)

c) -b/(2a)

d) a/b

Question 4. To find the y-coordinate of the vertex, you:
a) Plug in the x-coordinate into the quadratic function.

b) Multiply the x-coordinate by 2.

c) Add the x-coordinate to the function's constant.

d) Subtract the x-coordinate from the function's constant.

Question 5. If the coefficient "a" in a quadratic function is negative, the vertex represents:
a) The maximum value of the function.

b) The minimum value of the function.

c) The x-intercept of the function.

d) The y-intercept of the function.

Question 6. The vertex form of a quadratic function is:
a)ax"2 +bx +c

b) a(x - h)*2 + k

c)ax+b

d) a/bx

Question 7. If a quadratic function is in the form y = ax*2 + bx + c, the vertex can help
determine:

a) The slope of the function.

b) The x-intercepts of the function.

c) The y-intercept of the function.

d) The maximum or minimum value of the function.

Question 8. The vertex of a parabola is a point where the parabola:
a) Changes direction.

b) Crosses the x-axis.

c) Remains constant.

d) Becomes undefined.

Question 9. For the quadratic function y = 3x"2 + 6x + 2, the "b" value is:
a)3
b) 6
C) 2
d) o

Question 10. The formula for the vertex is derived from:
a) Completing the square.



b) The quadratic formula.
c¢) Factoring the quadratic.
d) Distributive property.

Answer Key:

1. b) The highest or lowest point of the function.

2. b) Opens upwards.

3. ¢) -b/(2a)

4. a) Plug in the x-coordinate into the quadratic function.
5. a) The maximum value of the function.

6. b) a(x - h)*2 + k

7. d) The maximum or minimum value of the function.

8. a) Changes direction.

9.b)6

10. a) Completing the square.

Week 21

Question 1. Which of the following is a characteristic of an arithmetic series?
a) Constant ratio

b) Constant difference

c) Multiplicative change

d) Percentage change

Question 2. To find the sum of an arithmetic series, you need to know:
a) The first term and the common ratio

b) The first term and the common difference

c) The last term and the common ratio

d) The last term and the common difference

Question 3. The sum of an arithmetic series can be found by multiplying:
a) The first term by the number of terms

b) The common difference by the number of terms

c) The average of the first and last term by the number of terms

d) The common ratio by the number of terms

Question 4. If the common difference of an arithmetic series is zero, the sum of the series
is:

a) Zero

b) The first term multiplied by the number of terms

c) The last term multiplied by the number of terms

d) Undefined

Question 5. In an arithmetic series, if the common difference is positive, the series is:
a) Decreasing

b) Increasing

c) Constant



d) Oscillating

Question 6. The formula for the sum of an arithmetic series involves:
a) Multiplying the common ratio by the number of terms

b) Dividing the first term by the common difference

¢) Adding the first term to the last term and then dividing by 2

d) Multiplying the average of the terms by the number of terms

Question 7. The sum of an arithmetic series is 0. This means:

a) All terms in the series are zero

b) The series has an equal number of positive and negative terms
c) The common difference is zero

d) The first term is zero

Question 8. The sum of the first 10 terms of an arithmetic series is 55. This could represent:
a) The series 1, 2, 3,..., 10

b) The series 2, 4, 6,..., 20

c) The series 0, 1, 2,..., 9

d) The series 10, 9, 8,..., 1

Question 9. In an arithmetic series, the sum of the terms is always:
a) Positive

b) Negative

c) Zero

d) Dependent on the terms of the series

Question 10. The sum of an arithmetic series can be negative if:
a) The common difference is negative

b) The first term is negative

c¢) Both the first term and the common difference are negative
d) The number of terms is odd

Answer Key:

1. b) Constant difference

2. b) The first term and the common difference

3. c¢) The average of the first and last term by the number of terms
4. b) The first term multiplied by the number of terms

5. Db) Increasing

6. d) Multiplying the average of the terms by the number of terms

7. b) The series has an equal number of positive and negative terms
8. a) The series 1, 2, 3,..., 10

9. d) Dependent on the terms of the series

10. c) Both the first term and the common difference are negative



Week 22

Question 1. Taylor's Remainder Theorem is used to:

a) Find the exact value of a function

b) Approximate the value of a function

¢) Find the remainder when approximating a function using a Taylor polynomial
d) Solve for the coefficients in a Taylor series

Question 2. The remainder from Taylor's Remainder Theorem gives us:
a) The error in our approximation

b) The highest degree term in the Taylor polynomial

c) The constant term in the Taylor series

d) The coefficient of the linear term

Question 3. The remainder in Taylor's Remainder Theorem is also known as:
a) Taylor's error

b) Lagrange's remainder

¢) Maclaurin's error

d) Newton's remainder

Question 4. To use Taylor's Remainder Theorem, we need to know:
a) The degree of the Taylor polynomial

b) The value at which we're approximating the function

c) The highest order derivative of the function

d) All of the above

Question 5. The remainder from Taylor's Remainder Theorem tends to zero as:
a) The degree of the Taylor polynomial increases

b) The function becomes more linear

¢) The function becomes more nonlinear

d) The Taylor polynomial becomes a Maclaurin polynomial

Question 6. Taylor's Remainder Theorem is most accurate when:
a) The function is approximated near the center of expansion

b) The function is approximated far from the center of expansion
c) The Taylor polynomial is of low degree

d) The function has no derivatives

Question 7. The remainder in Taylor's Remainder Theorem depends on:
a) The value of the function's derivative at some point in the interval

b) The value of the function at the center of expansion

c) The degree of the Taylor polynomial

d) The coefficients of the Taylor polynomial

Question 8. If the remainder from Taylor's Remainder Theorem is zero, this means:
a) The Taylor polynomial is an exact representation of the function

b) The function has no derivatives

¢) The Taylor polynomial is of maximum degree

d) The function is not differentiable



Question 9. Taylor's Remainder Theorem is a generalization of:
a) The Mean Value Theorem

b) The Intermediate Value Theorem

c) L'Hopital's Rule

d) The Fundamental Theorem of Calculus

Question 10. The remainder in Taylor's Remainder Theorem gives an upper bound on:
a) The error in the Taylor polynomial approximation

b) The degree of the Taylor polynomial

c) The coefficients of the Taylor polynomial

d) The value of the function at the center of expansion

Answer Key:

1. c¢) Find the remainder when approximating a function using a Taylor polynomial
2. a) The error in our approximation

3. b) Lagrange's remainder

4. d) All of the above

5. a) The degree of the Taylor polynomial increases

6. a) The function is approximated near the center of expansion

7. a) The value of the function's derivative at some point in the interval

8. a) The Taylor polynomial is an exact representation of the function

9. a) The Mean Value Theorem

10.a) The error in the Taylor polynomial approximation

Week 23

Question 1. What is a polynomial?

a) A mathematical expression involving numbers and variables
b) A type of fraction

c) A type of equation with only one solution

d) A mathematical operation like addition or subtraction

Question 2. When adding or subtracting polynomials, you should:
a) Combine like terms

b) Multiply the coefficients

c) Square the terms

d) Divide the terms by each other

Question 3. The highest power of the variable in a polynomial determines its:
a) Coefficient

b) Degree

c) Term

d) Constant

Question 4. When multiplying polynomials, you should:
a) Only multiply the coefficients
b) Only multiply the variables



c) Use the distributive property to multiply each term by every term
d) Combine like terms first, then multiply

Question 5. A polynomial with three terms is called:
a) Binomial

b) Monomial

c¢) Trinomial

d) Quadratic

Question 6. The process of multiplying a polynomial by a monomial is called:
a) Factoring

b) Distributing

¢) Combining

d) Simplifying

Question 7. Which of the following is NOT a polynomial?
a) 3x"2+5x-7

b) 2/x + 4

C)X"3-x"2+x-1

d) 5x"4 + 2x"2

Question 8. The largest number of terms you can get by multiplying a binomial by a
trinomial is:

a) 2

b) 3

c)5

d) 6

Question 9. The term without a variable in a polynomial is called the:
a) Coefficient

b) Degree

c) Constant term

d) Leading term

Question 10. When simplifying polynomials, you should:
a) Always get a single term as the answer

b) Always get a binomial as the answer

c) Combine like terms

d) Always get a trinomial as the answer

Answer Key:

a) A mathematical expression involving numbers and variables

a) Combine like terms

b) Degree

c) Use the distributive property to multiply each term by every term
c¢) Trinomial

b) Distributing

b) 2/x + 4

NogakwhE



8. d)6
9. c) Constant term
10.c) Combine like terms

Week 24

Question 1. When multiplying polynomials, what property is primarily used?
a) Associative Property

b) Commutative Property

c) Distributive Property

d) Identity Property

Question 2. What do you get when you multiply a binomial by another binomial?
a) A monomial

b) A binomial

c) A trinomial

d) A polynomial with four terms

Question 3. When multiplying polynomials, what should you do with the coefficients?
a) Add them

b) Subtract them

c) Multiply them

d) Divide them

Question 4. When multiplying polynomials, what should you do with the exponents of like
bases?

a) Add them

b) Subtract them

¢) Multiply them

d) Divide them

Question 5. Which of the following is a result of multiplying two linear binomials?
a) A linear binomial

b) A quadratic binomial

c) A quadratic trinomial

d) A cubic trinomial

Question 6. When multiplying a monomial by a polynomial, you should:
a) Multiply the monomial with each term of the polynomial

b) Add the monomial to each term of the polynomial

c) Subtract the monomial from each term of the polynomial

d) Divide each term of the polynomial by the monomial

Question 7. The process of multiplying two binomials using the distributive property is often
referred to as:

a) The Associative Method

b) The Commutative Method

c) The FOIL Method

d) The Binomial Method



Question 8. When multiplying polynomials, the degree of the product is:
a) The sum of the degrees of the factors

b) The difference between the degrees of the factors

c) The product of the degrees of the factors

d) The quotient of the degrees of the factors

Question 9. Multiplying a polynomial by 1 results in:
a) A polynomial with a degree increased by 1

b) The same polynomial

c) A polynomial with all terms doubled

d) A polynomial with all terms halved

Question 10. When multiplying a polynomial by 0, the result is:
a0

b) 1

c) The same polynomial

d) A polynomial with all terms doubled

Answer Key:

c) Distributive Property

) A trinomial

c) Multiply them

a) Add them

c) A quadratic trinomial

a) Multiply the monomial with each term of the polynomial
c) The FOIL Method

a) The sum of the degrees of the factors

. b) The same polynomial

0.a)0

BOoo~NoGOR~wNE

Week 25

Question 1. The Binomial Theorem is used to expand expressions of the form:
a) (a+ b)™n

b) a + b™n

c) a™n + b™n

d) a™b

Question 2. The coefficients in the expansion of a binomial can be found using:
a) The Pythagorean Theorem

b) The Quadratic Formula

c) Pascal's Triangle

d) The Distributive Property

Question 3. How many terms are there in the expansion of (a + b)"5?
a)d
b) 5



c) 6

d)7

Question 4. The Binomial Theorem can be applied to:
a) Only positive integer powers

b) Only negative integer powers

c) Both positive and negative integer powers

d) None of the above

Question 5. The third term in the expansion of (a + b)*n is related to:
a) n choose 0
b) n choose 1
c) n choose 2
d) n choose 3

Question 6. The coefficients in the Binomial Theorem form a pattern known as:
a) Fibonacci Sequence

b) Arithmetic Sequence

c) Geometric Sequence

d) Binomial Sequence

Question 7. The Binomial Theorem is a generalization of:
a) The Distributive Property

b) The Associative Property

c) The Commutative Property

d) The Identity Property

Question 8. In the Binomial Theorem, the sum of the exponents in each term is always:
a0

b) 1

c)n

d) n-1

Question 9. The Binomial Theorem can be used to expand:
a) Only binomials

b) Only trinomials

c¢) Both binomials and trinomials

d) Any polynomial

Question 10. The Binomial Theorem involves combinations, which are a part of:
a) Algebra

b) Geometry

c) Trigonometry

d) Combinatorics

Answer Key:
1. a)(a+hb)n

2. c) Pascal's Triangle
3. ¢)6



4. a) Only positive integer powers
5. ¢) n choose 2

6. d) Binomial Sequence

7. a) The Distributive Property

8. ¢)n

9. a) Only binomials

10. d) Combinatorics

Week 26

Question 1. Which of the following represents the square root of a number?
a) The number raised to the power of 0.5.

b) The number raised to the power of 2.

¢) The number raised to the power of 0.25.

d) The number raised to the power of 4.

Question 2. The cube root of a number can also be represented as:
a) The number raised to the power of 1/3.

b) The number raised to the power of 3.

¢) The number raised to the power of 1/2.

d) The number raised to the power of 2/3.

Question 3. If you see an exponent of 1/4, it is equivalent to:
a) Square root.

b) Cube root.

c) Fourth root.

d) Fifth root.

Question 4. Which of the following is equivalent to the fifth root of a number?
a) The number raised to the power of 5.

b) The number raised to the power of 1/5.

¢) The number raised to the power of 0.5.

d) The number raised to the power of 2/5.

Question 5. Rational exponents are used to represent:
a) Only square roots.

b) Only cube roots.

c) All types of roots.

d) Only even roots.

Question 6. The bottom number in a fractional exponent represents:
a) The power to which the base is raised.

b) The type of root.

c) The coefficient of the base.

d) The reciprocal of the base.

Question 7. If a number is raised to the power of 2/3, it means:
a) Square the number and then take the cube root.
b) Cube the number and then take the square root.



c) Take the cube root and then square the number.
d) Take the square root and then cube the number.

Question 8. A number raised to the power of 0 is always:
a0

b) 1

¢) The number itself.

d) Undefined.

Question 9. Which of the following represents the fourth root of a number squared?
a) The number raised to the power of 2/4.
b) The number raised to the power of 1/4.
¢) The number raised to the power of 1/2.
d) The number raised to the power of 4/2.

Question 10. If you want to find the seventh root of a number, the exponent would be:
a7

b) 1/7

c) 712

d) 2/7

Answer Key:

1. a) The number raised to the power of 0.5.
2. a) The number raised to the power of 1/3.
3. c¢) Fourth root.

4. b) The number raised to the power of 1/5.

5. c¢) All types of roots.

6. b) The type of root.

7. c) Take the cube root and then square the number.
8. b1l

9. a) The number raised to the power of 2/4.

10.b) 1/7.

Week 27

Question 1. When solving a system of two-variable equations, if the lines represented by
the equations are parallel, then:

a) There is one unique solution.

b) There are infinitely many solutions.

c¢) There is no solution.

d) The solution is zero.

Question 2. The method where you solve one equation for one variable and then substitute
that expression into the other equation is called:

a) Substitution method.

b) Elimination method.

c) Graphical method.

d) Matrix method.



Question 3. If the two equations represent the same line, then:
a) There is one unique solution.

b) There are infinitely many solutions.

c¢) There is no solution.

d) The solution is undefined.

Question 4. The point where the two lines represented by the equations meet is called:
a) Intersection point.

b) Origin.

¢) Midpoint.

d) Endpoint.

Question 5. If the coefficients of x and y in one equation are the negative reciprocals of the
coefficients in the other equation, the lines are:

a) Parallel.

b) Perpendicular.

c¢) Coincident.

d) Intersecting at a right angle.

Question 6. The method where you add or subtract the equations to eliminate one variable
is called:

a) Substitution method.

b) Elimination method.

c¢) Graphical method.

d) Matrix method.

Question 7. If the two equations have the same slope but different y-intercepts, the system:
a) Has one solution.

b) Has no solution.

c) Has two solutions.

d) Has infinitely many solutions.

Question 8. When graphing the equations, if the lines intersect at a single point, the system
is:

a) Consistent and dependent.

b) Consistent and independent.

c) Inconsistent.

d) Undefined.

Question 9. If you multiply both sides of an equation by the same non-zero number, the
solution:

a) Remains the same.

b) Changes.

c) Becomes zero.

d) Becomes undefined.

Question 10. A system of equations that has no solution is also described as:
a) Consistent.



b) Inconsistent.
c) Dependent.
d) Independent.

Answer Key:

1. c) There is no solution.

2. a) Substitution method.

3. Db) There are infinitely many solutions.
4. a) Intersection point.

5. b) Perpendicular

6. b) Elimination method.

7. b) Has no solution.

8. b) Consistent and independent.

9. a) Remains the same.

10.b) Inconsistent.

Week 28

Question 1. The point where a line crosses the vertical axis on a graph is known as the:
a) x-intercept.

b) y-intercept.

c) Origin.

d) Slope.

Question 2. The steepness or incline of a line is referred to as its:
a) y-intercept.

b) x-intercept.

c) Origin.

d) Slope.

Question 3. A line that goes from the bottom left to the top right on a graph has a:
a) Positive slope.

b) Negative slope.

c) Zero slope.

d) Undefined slope.

Question 4. A horizontal line on a graph has a slope of:
a) 1.

b) 0.

c) -1.

d) Infinity.

Question 5. The equation that represents a line in the form y = mx + b is called:
a) Standard form.

b) Point-slope form.

c) Slope-intercept form.

d) Intercept form.



Question 6. If two lines on a graph never meet, they are:
a) Intersecting.

b) Perpendicular.

c) Parallel.

d) Coincident.

Question 7. The point (0, b) on a graph represents the:
a) x-intercept of the line.

b) Slope of the line.

c) y-intercept of the line.

d) Origin of the graph.

Question 8. A vertical line on a graph has a slope that is:
a) 0.

b) 1.

c) -1.

d) Undefined.

Question 9. The form of a linear equation where you know a specific point (x1, y1) and the
slope m is:

a) Standard form.

b) Point-slope form.

c) Slope-intercept form.

d) Intercept form.

Question 10. If a line rises 4 units for every 2 units it runs to the right, its slope is:
a) 2.

b) 1/2.

c) -2.

d) -1/2.

Answer Key:

b) y-intercept.

d) Slope.

a) Positive slope.

b) 0.

c) Slope-intercept form.
c) Parallel.

c) y-intercept of the line.
d) Undefined.

. b) Point-slope form.
0.a) 2.

PBOO~NOGOR~WNE

Week 29



Question 1. Completing the square is a method used to solve:
a) Linear equations.

b) Quadratic equations.

c) Exponential equations.

d) Logarithmic equations.

Question 2. The main goal of completing the square is to turn the quadratic equation into
the form:

a)ax"2 +bx+c=0.

b) (x + p)*2 =q.

c)ax+b=0.

d) x*2 = a.

Question 3. To complete the square, the coefficient of x*2 should be:
a) 0.

b) 1.

c)-1.

d) Any real number.

Question 4. When completing the square, if you add a term to one side of the equation, you
must:

a) Subtract the same term from the other side.

b) Add the same term to the other side.

c) Multiply the other side by that term.

d) Divide the other side by that term.

Question 5. The term that is added to both sides of the equation to complete the square is:
a) Half of the coefficient of x.

b) The square of half the coefficient of x.

c¢) The coefficient of x.

d) The square of the coefficient of x.

Question 6. After completing the square, the next step to solve for x is typically:
a) Taking the square root of both sides.

b) Factoring the equation.

c) Combining like terms.

d) Distributing the terms.

Question 7. Completing the square can also be used to derive:
a) The quadratic formula.

b) The Pythagorean theorem.

c) The distributive property.

d) The associative property.

Question 8. If the equation is already in the form (x + p)*2 = q, then:
a) Completing the square is not necessary.

b) You must complete the square.

¢) You must factor the equation.



d) You must distribute the terms.

Question 9. Completing the square is especially useful when the quadratic:
a) Can be easily factored.

b) Cannot be easily factored.

c) Has a leading coefficient of 0.

d) Is in standard form.

Question 10. When solving by completing the square, it's possible to get:
a) Only one solution.

b) Two distinct solutions.

c) No real solutions.

d) All of the above.

Answer Key:

1. b) Quadratic equations.

2. b)(x+p)*2=q.

3. b) 1l

4. b) Add the same term to the other side.

5. b) The square of half the coefficient of x.

6. a) Taking the square root of both sides.

7. a) The quadratic formula.

8. a) Completing the square is not necessary.
9. b) Cannot be easily factored.

10.d) All of the above.

Week 30

Question 1. When solving a linear equation with variables on both sides, the first step is
typically to:

a) Divide both sides by 2.

b) Add the same number to both sides.

c) Get all the variables on one side.

d) Square both sides of the equation.

Question 2. If an equation has the same term on both sides, such as 3x = 3x + 7, the
solution is:

ayx=7

b)yx=0

c) No solution

d) Infinitely many solutions

Question 3. When you have eliminated all the variables from one side of the equation and
the remaining statement is false (like 5 = 8), this means:

a) There is one solution.

b) There are infinitely many solutions.

c) There is no solution.

d) The equation is undefined.



Question 4. If after simplifying, both sides of the equation are identical, the equation has:
a) One unique solution.

b) No solution.

c) Infinitely many solutions.

d) Two solutions.

Question 5. To solve for x in the equation 2x + 5 = x + 9, you should:
a) Add x to both sides.

b) Subtract x from both sides.

c) Multiply both sides by x.

d) Divide both sides by x.

Question 6. When you have the same term subtracted from both sides of the equation, you
should:

a) Distribute the term.

b) Combine like terms.

c) Cancel out the term.

d) Factor the term.

Question 7. If an equation has variables on both sides and the coefficients of the variable
are equal, the equation:

a) Has one solution.

b) Has no solution.

c) Has two solutions.

d) Has infinitely many solutions.

Question 8. To maintain the equality of an equation, when you perform an operation to one
side, you must:

a) Perform the opposite operation to the other side.

b) Perform the same operation to the other side.

c¢) Only perform operations on the side with the variable.

d) Only perform operations on the side without the variable.

Question 9. When solving for x in the equation 4x - 7 = 2x + 5, the term 2x should be:
a) Added to both sides.

b) Subtracted from both sides.

¢) Multiplied on both sides.

d) Divided from both sides.

Question 10. The goal of solving a linear equation with variables on both sides is to:
a) Get the variable terms to cancel out.

b) Get a variable term on both sides.

c) Isolate the variable on one side.

d) Make both sides of the equation equal to zero.

Answer Key:

1. c) Get all the variables on one side.



2. c) No|solution

3. c¢) There is no solution.
4. c) Infinitely many solutions.
5. b) Subtract x from both sides.
6. c) Cancel out the term.
7. b) Has no solution

8. b) Perform the same operation to the other side.
9. b) Subtracted from both sides.

10.c) Isolate the variable on one side.

Week 31

Question 1. What is the first step in the substitution method?

a) Solve one of the equations for one variable in terms of the other variable
b) Add the two equations together

c) Substitute the value of one variable into the other equation

d) Find the intersection point of the two lines

Question 2. Why do we use the substitution method?

a) To find the value of one variable and then use it to find the value of the other variable
b) To find the slope of a line

c) To graph a linear equation

d) To find the area under a curve

Question 3. What kind of system of equations can be solved using the substitution method?
a) Linear equations

b) Quadratic equations

c) Exponential equations

d) All of the above

Question 4. What do we find when we solve a system of linear equations using the
substitution method?

a) The point where the two lines intersect

b) The slope of the lines

c) The y-intercept of the lines

d) The x-intercept of the lines

Question 5. Can the substitution method be used to solve a system of three or more
equations?

a) Yes

b) No

c) Only if the equations are linear

d) Only if the equations are quadratic

Question 6. What happens if the solution to the system of equations is a true statement, like
0=07?

a) The system has no solution

b) The system has infinitely many solutions

c) The system has one solution



d) The system has two solutions

Question 7. What happens if the solution to the system of equations is a false statement,
like 0=17?

a) The system has no solution

b) The system has infinitely many solutions

c) The system has one solution

d) The system has two solutions

Question 8. Can the substitution method be used with non-linear equations?
a) Yes

b) No

c) Only if the equations are quadratic

d) Only if the equations are exponential

Question 9. What should you do if the coefficient of the variable you are solving for is not 1?
a) Divide both sides of the equation by the coefficient

b) Multiply both sides of the equation by the coefficient

c) Add the coefficient to both sides of the equation

d) Subtract the coefficient from both sides of the equation

Question 10. What is a solution to a system of equations?
a) A value that makes both equations true

b) A graph of the equations

c¢) The slope of the line

d) The y-intercept of the line

Answer Key:

=

a) Solve one of the equations for one variable in terms of the other variable
a) To find the value of one variable and then use it to find the value of the other
variable

3. a) Linear equations

4. a) The point where the two lines intersect

5. a) Yes

6. b) The system has infinitely many solutions

-

8

9.

1

n

. a) The system has no solution
. a)Yes

a) Divide both sides of the equation by the coefficient
0. a) A value that makes both equations true

Week 32

Question 1. What is a matrix?

a) A collection of numbers arranged in rows and columns
b) A type of graph

¢) A method of solving quadratic equations

d) A type of function



Question 2. What is the purpose of using matrices to solve linear equations?
a) To find the intersection point of two lines

b) To organize data and find unknown variables

c) To graph linear equations

d) To find the slope of a line

Question 3. How many rows does a matrix need to have?
a) At least one

b) At least two

c) At least three

d) It can have zero rows

Question 4. How many columns does a matrix need to have?
a) At least one

b) At least two

c) At least three

d) It can have zero columns

Question 5. What is the first step in using matrices to solve a system of linear equations?
a) Finding the determinant

b) Writing the system of equations in matrix form

c¢) Finding the inverse of a matrix

d) Multiplying matrices

Question 6. What do you call the number of rows times the number of columns in a matrix?
a) The dimension of the matrix

b) The determinant of the matrix

c) The inverse of the matrix

d) The solution of the matrix

Question 7. What is the determinant of a matrix?

a) A special number that can be calculated from a square matrix
b) The number of solutions to a system of equations

c) The slope of a line

d) The y-intercept of a line

Question 8. Can every matrix be inverted?

a) Yes

b) No

c) Only square matrices

d) Only matrices with more rows than columns

Question 9. What is the role of the inverse matrix in solving systems of linear equations?
a) It is used to find the determinant

b) It is used to find the solution to the system of equations

c) It is used to graph the equations

d) It is used to find the slope of a line

Question 10. What is a square matrix?



a) A matrix with the same number of rows and columns
b) A matrix with more rows than columns

c) A matrix with more columns than rows

d) A matrix with only one row and one column

Answer Key:

1. a) A collection of numbers arranged in rows and columns

2. b) To organize data and find unknown variables

3. a) At least one

4. a) At least one

5. b) Writing the system of equations in matrix form

6. a) The dimension of the matrix

7. a) A special number that can be calculated from a square matrix
8. b) No

9. b) Itis used to find the solution to the system of equations

10. a) A matrix with the same number of rows and columns

Week 33

Question 1. What is a matrix?

a) A type of graph

b) A rectangular array of numbers
c) A type of equation

d) A method of addition

Question 2. How many rows does a 3x2 matrix have?
a) 2
b) 3
c)5
d) 6

Question 3. How many columns does a 3x2 matrix have?
a)2
b) 3
c)5
d) 6

Question 4. What is the term for the numbers inside a matrix?
a) Cells

b) Elements

c) Variables

d) Units

Question 5. What is the first step in solving a system of linear equations using matrices?
a) Finding the determinant

b) Setting up the matrix

c¢) Finding the inverse

d) Multiplying the matrices



Question 6. What is the determinant of a matrix?
a) A type of matrix

b) A value derived from a square matrix

¢) A method of solving matrices

d) The first row of a matrix

Question 7. Can you find the inverse of any matrix?
a) Yes

b) No

c¢) Only for square matrices

d) Only for rectangular matrices

Question 8. What is the purpose of finding the inverse of a matrix when solving a system of
linear equations?

a) To find the solution to the system

b) To set up the matrix

c) To find the determinant

d) To multiply the matrices

Question 9. What do you use to multiply matrices when solving a system of linear
equations?

a) Addition

b) Subtraction

¢) Matrix multiplication

d) Division

Question 10. What is the result when you multiply the inverse of a matrix by the original
matrix?

a) The zero matrix

b) The identity matrix

¢) The determinant

d) A new matrix

Answer Key:

1. b) A rectangular array of numbers
2. b)3

3. a)2

4. b) Elements

5. b) Setting up the matrix
6. b) A value derived from a square matrix
7. c) Only for square matrices

8. a) To find the solution to the system

9. c¢) Matrix multiplication

10. b) The identity matrix



Week 34

Question 1. What is the X-intercept of a graph?
a) The point where the graph crosses the X-axis
b) The point where the graph crosses the Y-axis
c) The highest point on the graph

d) The lowest point on the graph

Question 2. What is the Y-intercept of a graph?
a) The point where the graph crosses the X-axis
b) The point where the graph crosses the Y-axis
c) The highest point on the graph

d) The lowest point on the graph

Question 3. To find the X-intercept, what value do we set Y to?
a0
b) 1
c) X
dyY

Question 4. To find the Y-intercept, what value do we set X t0?
a0
b) 1
c) X
dyY

Question 5. What does the point (0, b) represent on a graph?
a) X-intercept

b) Y-intercept

c) Slope

d) None of the above

Question 6. What does the point (a, 0) represent on a graph?
a) X-intercept

b) Y-intercept

c) Slope

d) None of the above

Question 7. Can a linear function have more than one X-intercept?
a) Yes

b) No

c) Sometimes

d) It depends on the slope

Question 8. Can a linear function have more than one Y -intercept?
a) Yes

b) No

c) Sometimes

d) It depends on the slope



Question 9. What is the slope-intercept form of a linear equation?
ay=mx+b

b)ax+by=c
c)y=mx-b
dx=my+b

Question 10. In the slope-intercept form of a linear equation, what does "m" represent?
a) X-intercept

b) Y-intercept

c) Slope

d) None of the above

Answer Key:

1. a) The point where the graph crosses the X-axis
2. b) The point where the graph crosses the Y-axis
3. a0

4. a)0

5. b) Y-intercept
6. a) X-intercept
7. b) No

8. b) No

9. a)y=mx+b
10.c) Slope

Week 35

Question 1. When graphing a linear inequality, what does a dashed line represent?
a) The solution includes the points on the line

b) The solution does not include the points on the line

c¢) The line is undefined

d) The line is horizontal

Question 2. What does the shaded region on a graph of a linear inequality represent?
a) The set of all solutions to the inequality

b) The set of all solutions to the equation

c) The area outside the solution set

d) The undefined region

Question 3. How many variables are we dealing with when graphing linear inequalities of
two variables?

a) One

b) Two

c) Three

d) Four

Question 4. What is the first step in graphing a linear inequality of two variables?
a) Finding the slope



b) Graphing the corresponding linear equation
c¢) Shading the region
d) Drawing a dashed or solid line

Question 5. What type of line do we use to graph the inequality "y > ax + b"?
a) Dashed line

b) Solid line

c) Curved line

d) Vertical line

Question 6. How do we find the region to shade when graphing a linear inequality?
a) By choosing a test point

b) By finding the slope

c¢) By finding the y-intercept

d) By drawing a line

Question 7. What does the inequality symbol "<" or ">" tell us about the graph?
a) The direction of the line

b) The type of line (dashed or solid) to use

c¢) The region to shade

d) Both b and c

Question 8. If we have the inequality "y = ax + b", what type of line will represent the
equation part of the inequality?

a) Dashed line

b) Solid line

c) Curved line

d) Vertical line

Question 9. When graphing a vertical line inequality such as "x > a", how do we represent
the solution on the graph?

a) With a horizontal line

b) With a vertical line

c) With a curved line

d) With a dashed and solid line

Question 10. What is the solution to a system of linear inequalities?
a) The intersection of the shaded regions

b) The union of the shaded regions

c) The intersection of the lines

d) The union of the lines

Answer Key:

b) The solution does not include the points on the line
a) The set of all solutions to the inequality

b) Two

b) Graphing the corresponding linear equation

a) Dashed line

ahrLONE



6. a) By choosing a test point

7. d)Bothbandc

8. b) Solid line

9. b) With a vertical line

10.a) The intersection of the shaded regions

Week 36

Question 1. Which of the following is the imaginary unit?
a) i

b) pi

c)e

d)1

Question 2. What is the square of the imaginary unit, i?
a)-1

b) 1

c)i

d) o

Question 3. When you multiply a complex number by its conjugate, the result is always a:
a) Real number

b) Imaginary number

¢) Complex number

d) Negative number

Question 4. The conjugate of the complex number a + bi is:

a)a-bi

b) a + bi

c)-a-hi

d) -a + bi

Question 5. What is the result of multiplying any number by 17?
a0

b) The number itself

c)1l

d) -1

Question 6. Which of the following is a complex number?

a) 3 +4i

b)3+4

c)4

d)i

Question 7. What is the real part of the complex number 5 - 3i?
a)b

b) -3

c)3

d) -5



Question 8. What is the imaginary part of the complex number 7 + 2i?
a7

b) 2

c) 2i

d) 7 + 2i

Question 9. If a and b are real numbers, which of the following is a complex number?
a)a+hb

b)a-b

c) a + bi

d) ab

Question 10. What is the result of multiplying a real number and an imaginary number?
a) Real number

b) Imaginary number

c) Complex number with both real and imaginary parts

d) Zero

Answer Key

1. a)i

2. a)-1

3. a) Real number

4. a)a- bi

5. b) The number itself
6. a)3+4i

7. a)5

8. b)2

9. ¢c)a+hi

10. b) Imaginary number

Week 37

Question 1. A linear equation in one variable always has how many solutions?
a) No solutions

b) One solution

c¢) Two solutions

d) Infinite solutions

Question 2. Which of the following is NOT a linear equation?
ayx+5=7

b)2x-3=8

C)x"2+4=12

d) 4x =16

Question 3. The solution to a linear equation is the value of x that:
a) Makes the equation true
b) Makes the equation false



c) Is always zero

d) Is always one

Question 4. If two linear equations are equivalent, they have:
a) Different solutions

b) The same solution

c¢) No solution

d) Two solutions

Question 5. To solve a linear equation, you should aim to:
a) Get x on both sides

b) Get x on one side

c) Eliminate x

d) Square x

Question 6. Which property allows you to add the same number to both sides of an
equation?

a) Distributive Property

b) Commutative Property

c) Associative Property

d) Addition Property of Equality

Question 7. If you multiply both sides of an equation by zero, the equation becomes:
a) True

b) False

c¢) Undefined

d) Equivalent

Question 8. When solving a linear equation, it's important to keep the equation:
a) Balanced

b) Unbalanced

c) Positive

d) Negative

Question 9. If a linear equation has no solution, it means:
a) The equation is always true

b) The equation is always false

c) X can be any number

d) x is zero

Question 10. A linear equation is an equation of degree:
a0
b) 1
C)2
d)3

Answer Key

1. b) One solution
2. C)x"2+4=12
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0.

a) Makes the equation true

b) The same solution

b) Get x on one side

d) Addition Property of Equality
b) False

a) Balanced

b) The equation is always false
b) 1



